[ Efficiency vs vertpos |

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Ja)

LA RMAN AL RN LARLE LLARN RRRRS

.................................................

.................................................

Iy

VS

0.954

1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_init_orig

Efficiend —— pQm_TT_ mkFit-DQM_init_modi3

0.2

0.18F
0.16F
0.14F
0.12F

0.1
0.08F
0.06F
0.04F
0.02F

L OF

[y

0.95!

0.5

0.45F
0.4F
0.35F
0.3
0.25F
0.2

0.15F---

0.1
0.05]

0

T

FRVS)

iy
|
T -

=10




	Contents
	Page 1


